FILM-TECH

THE INFORMATION CONTAINED IN THIS ADOBE ACROBAT PDF
FILE IS PROVIDED AT YOUR OWN RISK AND GOOD JUDGMENT.

THESE MANUALS ARE DESIGNED TO FACILITATE THE
EXCHANGE OF INFORMATION RELATED TO CINEMA
PROJECTION AND FILM HANDLING, WITH NO WARRANTIES NOR
OBLIGATIONS FROM THE AUTHORS, FOR QUALIFIED FIELD
SERVICE ENGINEERS.

IF YOU ARE NOT A QUALIFIED TECHNICIAN, PLEASE MAKE NO
ADJUSTMENTS TO ANYTHING YOU MAY READ ABOUT IN THESE
ADOBE MANUAL DOWNLOADS.

WWW.FILM-TECH.COM



http://www.film-tech.com/

DTS 70mm Operation and Installation
DTS-6 and DTS-6D

How Does DTS 35mm work?

Using DTS timecode printed on the motion picture film, the DTS-6 system (with matching
movie discs loaded) reads the timecode and plays the correct sound for each frame of film
projected. The projectionist inserts the movie disc(s) into the DTS-6 and threads the film though
the DTS timecode reader head. Once the film is started, the DTS system checks a keyed serial
number in the timecode and on the movie disc(s) to assure the correct sound is being played with
the movie being shown. Films released in the DTS 35mm digital sound format also contain a
traditional analog (optical) sound track that serves as a back-up sound source.

How Does DTS 70mm work?

The DTS 70mm digital sound format basically functions the same as the DTS 35mm, but with
some important differences. Films released in the DTS 70mm format do not have the standard
(analog 6-track sound) magnetic striping. The DTS timecode is written outside the sprocket
holes where the 70mm track-two magnetic stripping normally resides. This allows the useable
picture area to be increased to fill the space used by the inner magnetic stripes. The size of the
timecode on a DTS 70mm print is huge. At 30 mils wide, it is easily visible to the naked eye.
Damage by small, normal scratches does not effect the reader’ s ability to scan timecode.

Since the magnetic striping is removed, DTS 70mm prints cannot use analog sound for backup.
Instead, installing a second DTS player is recommended to ensure 100% fail-safe operation. If a
malfunction occurs, the main DTS player uses its built-in default circuitry to automatically
switch to the second unit. Special failsafe adapters link the two players together.

For theaters already equipped with DTS 35mm system and setup for 70mm projection, the
purchase of aDTS 70mm reader and bracket is required. The 70mm reader can be mounted onto
the projector next to the DTS 35mm reader, or, if space is not available, an optiona breakaway
bracket and spacer can be used so either size reader can mount (one at a time) to the same
bracket. Thumbscrews on the panels allow for easy change between DTS 35/ 70 mm readers.

Parts Required

Besides the cables and accessories that come with a standard 35mm DTS-6 /-6D system, the
following parts are added for DTS 70mm:

o 70mm instalation manual NOTE: There are separate manuals for the DTS-6 and the DTS-6D
» 70mm Timecode Reader(s)
» 70mm Reader Mounting Bracket, as needed for your projector
» 356mm/70mm Reader Spacer Plate(s), asneeded for your projector
* 70mm offset measurement film
» 70mm failsafe kit
For aDTS-6 (2-drives), use part number E165
For DTS-6D (3-drives), use part number E169
* A second DTS player, same model asthe main player



EDGE OF FILM
TO INSIDE EDGE OF
PERFORATION
(215 MILS £ 2)

EDGE OF FILM
TO PICTURE EDGE
(325 MILS £ 2)

DTS TIME CODE PERFORATION

WIDTH WIDTH
TEg?ﬁm(chFcl)L[’)le (30 MILS EN (110 MILS % 0.4)
CENTER-LINE
(195 MILS £ 2)

WIDTH OF PICTURE FRAME
(2100 MILS % 4)

DTS 70MM TRACK SPECIFICATION

DI G I T AL

™  Digital Theater Systems
5171 Clareton Drive
Agoura Hills, CA 91362

PH: 818-706-3525 Fax: 818-706-1868

S O U N D Web: www.dtsonline.com



INSTALLATION PROCEDURE

The following is a generic procedure intended to supplement the standard DTS-6/-6D Installation
Manual.

Timecode Reader Installation

e If both 35mm and 70mm readers are to be used on the same bracket, connect the proper
breakaway plate to each reader as shown in Figure 7. Keep spacers attached to the
readers and keep them as a set once projector alignments are made.

» Position the appropriate DTS mounting bracket on the same bolt pattern as the reel arm
and bolt securely in place.

* Instal the Timecode Reader onto the DTS mounting bracket and bolt into place with
supplied hardware.

* Rengtall the reel arm on the top bolt pattern of the DTS mounting bracket.

e Using film, align the mounting bracket and the reel arm so that the film path through the
reader and to the projector is correct.

For 70mm -- 35mm reader used at the same pr ojector

- Start by mounting the 70mm reader (with its breakaway plate attached) to the bracket.
Use 70mm film to align reader. Once aligned, tighten bracket screws. Loosen the
thumbscrew on the breakaway plate so that the 70mm reader detaches from the bracket.

- Now attach the 35mm reader (with its breakaway plate attached) to the bracket. Use
35mm film to be sure the aignment path is correct -- no corrections should be
necessary. The principle is to have one alignment for both readers so that no projector
adjustments are needed when the readers are exchanged.

 The DTS timecode reader MUST have a straight film path (no angles or twists) and at
least a small amount of tension. The auxiliary flanged roller on the timecode reader head
is used to avoid film “walk out” and helps to stabilize the film. Additional guide rollers
or adding a second auxiliary roller may be installed to ensure proper film tension - most
critical on platter systems.

»  Connect the 9-pin timecode cable(s) to the DTS player(s) or failsafe board, if used.
» Two projector (change-over) theaters

The readers must be placed at the same location on each projector. The offset value must
be the same for the movie to play in sync at both projectors.



HGHTAL@

DIGITAL THEATER SYSTEMS

5171 Clareton Dr, Agoura Hills, CA 91301

. (818) 706—3525 . Fax (818) 706—1868

Installation Procedure, Timecode Reader Head Auxiliary Roller

The Auxiliary Roller is designed to mount on either of the two Secondary rollers of the Timecode Reader

Head, as detailed below:

1.

2.

3.

Remove the screw (1) from the end cap (@)
of the desired secondary roller (3), and
remove the end cap (2).

Loosen the set screw (4) which holds the
roller shaft (5) of the secondary roller (3).

Gently push the roller shaft(s) out of the
secondary roller (3). Note: Excessive force may
damage the bearings (6). Be careful not to
lose the washer (7), or the bearings (6) that
mount on the roller shaft (5).

4. Install the longer roller shaft(8) provided.

o

7.

Note: The flat section on the roller shaft(8)
should face the set screw (4).in the Reader
Head. About 1/4” of the longer roller shaft (8)
will protrude from the bottom of the

Reader Head.

Tighten the set screw &), and replace the
secondary roller 3) and end cap (2).

. Make sure that the secondary roller (3) spins

freely. If not, loosen the set screw (4) and adjust
the roller shaft G up slightly. This should free
the secondary roller (3). If, after adjustment the
secondary roller (3)still does not spin, double
check that all parts have been properly replaced
onfo the roller shaft (5).

Place the Auxiliary Roller (9) on the protruding
section of the roller shaft @), in the desired
position (10), and tighten the cap screw (i1).

:

[

Flat

© ©@
| ©
O
C @ L%
© © S L
/ \\\ @
o o | o \,\
\\ ///V@
. A
S .
© © \




£ec3—IL OMA' eIl

“ON"OMT IAVN T4

aNnos

10€16 VO 'STIIH V¥N09V
‘4 NOL3¥vVID /LIS %
SW3LSAS ¥3Lv3HL VLol

SvITsTa

INON_i3Iv0S

A3
VNV “d NMVED 03A0UIIY

ONILNAOW 3LV1d AVMYMYIHE gy

10-S001-8007 N/d
T341N03d 2
SAITTIHd "0@v3H 1vd
¥/€ X ¥2-01

31v1d o430VdS
AVMYAY3IE £290

20-0090

IV3IH 430v3y WL

/[ F9M914

10-7001-800T N/d
d34IN03d 2
SAITTIHd ‘0v3H 1v14
2/1-1 X ¥2-01

31Vd 4309dS
AYNYNY3SE 9290

00-0090
Iv3H d30v3yd WwWGe




DTS - 70mm Timecode
Reader and Mounting
Brackets

35/70mm Standard
Mounting Bracket

70mm Spacing

Block
[[L, 15

°

)
oC o©
=y
@ 2= o0~ | Offset Distance
—

) &
]
5 [
°8
O o
° o
o] J
) §
35/70mm
Projector 35mm Spacing
Block

In order to properly set the offset for 70mm film
on the DTS unit, you must count the number of
frames between the picture aperture and the
timecode reader head and multiply by 1.25.

For example,
Distance between (70mm) 24 Frame/Sec
Picture Aperture & Timecode Reader Head  Offset Setting
24 frames X 1.25 -1 =29
12 frames X 1.25 - 1 =14

«—— 35/70mm Standard—»

70mm DTS Timecode
Reader Head

Mounting Bracket

0
i

v

35mm DTS Timecode
Reader Head

Digital Theater Systems
5171 Clareton Dir.
Agoura Hills, Ca. 91301

Phone: (818)706-3525  Fax:(818)706-1868



DTS - 70mm Timecode
Reader and Mounting

B rackets Head Adapter Plate

(Kinoton Projector)

70mm Spacing
Block

ANCa
iy

Uil

V
%!_\
=

*
Offiet Distance

0
B

vy Block

In order to properly set the offset for 70mm film
on the DTS unit, you must count the number of
frames between the picture aperture and the
timecode reader head and multiply by 1.25.

For example,

12 frames X 1.25 -1 =14

70mm DTS Timecode
Reader Head

@@ —_—

@ Head Adapter Plate
Ay

35mm Spacing———— »

| S —

[ i

= |

o —
= o ]

35mm DTS Timecode
Reader Head

DI GITAL

. Distance between (70mm) 24 Frame/Sec ™ ?i]g;T]OICTlg?gTToeg SD\/rsTems
Picture Aperture & Timecode Reader Head  Offset Setting Agoura Hils, Ca. 91301
24 frames X 1.25 - 1 =29 Phone: (818)706-3525  Fax:(818)706-1868

S O U N D



FAIL-SAFE INSTALLATION, DTS 70mm

Requires the addition of a second DTS player. The second player must be the same model as the
main player. See“failsafe” wiring diagrams that applies to your player.

* Use the “failsafe” board that applies to your players. Both players must be the same
model. Thisallowsasecond DTS player to take over if the main DTS player fails.
DTS-6 (2-drives) = DTS part number D582
DTS-6D (3-drives) = DTS part number D587

* Connect al cables, including power to the players. NOTE: The DTS player is a
computer based system and as such can be susceptible to power line surges. A quality
surge/spike suppresser made for computers is recommended.

» If using one reader for two players, connect the 9-pin cables from the timecode reader to
“fallsafe’” board. If using two readers and two players, connect one reader to each player,
by-passing the failsafe board.

Sync Adjustment For DTS 70mm

A special leader of DTS 70mm film isincluded with each DTS 70mm reader head. This
allows the offset to be measured. Offset settings for DTS 35mm will not be the same as
DTS 70mm. Leave alabel on player with value for each setting.

Install the 70mm reader head(s). To set the sync, thread DTS 70mm offset leader through
the projector and reader. Put “00" at the reader’s lens. Read the number at the picture
aperture and adjust the OFFSET switches (on the DTS players) for this number.

If the special leader is not available, the frame-count method can be used. Thread some
70mm film through the DTS 70mm reader and the projector. Count the number of
picture frames from the DTS reader lens to the projector’s picture aperture. Multiply the
result by 1.25 and subtract one. Set the player's TIMECODE HEAD OFFSET switches to
this number. EXAMPLE: 27 frames X 1.25 = 33.75 - 1 = 32.75 offset. Round this
number off to the next whole number. So, “33” would be your offset number.

*** The DTS 35mm film cannot be used to set the offset ***
Audio Level Adjustment

Set master fader to ‘7'. Use a SPL meter (set for dow & C-weighted) and the DTS DS1
Setup disc to set levels in the theater. Stand in rear third of theater and just off center. Set
DTS levelsfor both playersto L, C, R=85dB, LS & RS=82dB, and sub bass=91dB.

*** Both DTS Players level and OFFSET (sync) settings must match ***



FAIL-SAFE TEST Note: Analog fallback not used on DTS 70mm film.
e Thread DTS 70mm encoded film through the projector and DTS reader(s).

e Load matching cD-ROM discs into the two DTS players. One disc (set) in the main
unit and the second in the “fail-safe” player.

e Start the projector. The cinema processor should pulse to digital and both players
should be playing in digital. Their sYSTEM lights should be blinking and DIGITAL
lights should be on solid. Turn up the booth monitor so that the sound track is heard.

* While playing in DTS, gect the discs from the main player. The second (or “fail-
safe”’) player should immediately take over. No interruption in sound should be heard.

e Load discs back into the main player. Once the main player starts playing in digital,
gject the disc from the “fail-safe” player. No sound interruption should be heard.

Listen Test

e Run areel of DTS 70mm film. The green light on the reader should brighten when
timecode is read. The light should be bright and steady, and not flashing. A lot of
flashing indicates a problem.

» Go into the theater to verify quality sound and a comfortable listening level. Also,
verify good lip sync.

OPERATION

e Thread Film Through The DTS Timecode Reader
Verify same size loops through the projector as done when checking the offset number.
Failure to do so will result in the picture being out of sync with the digital sound track.

* Verify Offset
If the DTS reader has been changed from 35mm to 70mm (or visa-versa), remember to
change the offset setting on the DTS player. Failure to do so will result in the picture
being out of sync with the digital sound track.

e Verify Movie Discs
Verify the discs match the movie (“Jurassic Park” film with “Jurassic Park” movie
discs). If thefilm and discsdon't match, the digital sound track will not play.

If asecond DTS player is used for 70mm fail-safe, load a second set of discs into this
unit. These discs should match the discsin the main DTS player.

Reboot players to ensure the discs are read by the players.

e DTS recommends the show be pre-run. Check that the timecode reader green LED is
bright and steady, and the system performs properly. Check all reels for good timecode,
if time permits. Occasional blink of the TIMECODE LED isnormal.

e Maintenance
The timecode reader’s lens should be blown off with compressed air once a day to
remove any dust build up. The CD-ROM drives may be cleaned using a “CD-ROM
cleaning disc” — available at any computer store or from DTS.



INSTALLATION DIAGRAMS

Brackets for the DTS Timecode Reader, 70mm permanent or 35mm/70mm switchable. If
switchable desired, breakaway adapters needed on brackets and readers.

e D625 — Standard Breakaway Bracket
For projectors: Century, Simplex, and Cinemeccanica with Kelmar bracket. Intended to fit
between the projector and reel arm. Readers must have D626 or D627. No bracket breakaway
adapter needed. Made using American standard size hole to accommodate 2" center spacing
3/8 - 16 tap that is utilized to mount the American made upper reel arms. Hardware included:
Application QTY Description

35mm 2 10-24 x /2" Phillips screws
35mm 2 3/4x 16 x 1" hex bolt nuts
35mm/ 70mm 2 3/8 lock washers

70mm 2 3/8x 112" Phillips screws
70mm 2 3/8 flat washers

70mm 2 3/8 hex nuts

* 5006-0001-00 Cinemeccanica Adapter Plate
For Cinemeccania projectors. Used to allow the use of the D625 standard bracket. If the reel
arm needs to be remounted, two plates are required.

e D615 - DP70 Universal Bracket
Used for American projectors with a penthouse. Needs D628 adapter plate for breakaway use.
Comes with tap and drill bit 8-32, and the following hardware:

QTY Description
2 10-24 x /2" Phillips screws
2 3/4x 16 x 1" hex bolt nuts
2 3/8 lock washers

» D616 - AA2 bracket
For Norelco AA projectors. Needs D628 adapter plate for breakaway use. Hardware included:
QTY Description
2 #10 lock washers
3 5/16 x 18 x 5" Phillips screws
3 3/8 lock washers
2 10-24 x /2" Phillips screws
e D617 —“L"” Bracket
For Kinoton, Norelco DP75 projectors. Needs D628 adapter plate for breakaway use

» D628 - Breakaway Adapter Plate for Brackets
Used to mount the DTS timecode reader to the side of the projector. Comes with same
hardware as the D625. Adapts D617 for breakaway use. Reader must have D626 or D627.
Hardware included: Qty 2, 10-24 x %4 flat head Phillips screws.

e D626 - Spacer (breskaway adapter) Plate for DTS 35mm Reader. Hardware included:
Qty 2, 10-24 x 1Y% flat head Phillips screws.

e D627 - Spacer (breskaway adapter) Plate for DTS 70mm Reader. Hardware included:
Qty 2, 10-24 x 5/8" flat head Phillips screws.

10



T T 3 £ 3 T T T

I REVISIONS
7.90 [zanelrev] DESCRIPTION | oart  [apProven
| | A | repesicneD 3729795 |
6.30
— 15—
3.937 N
‘ =~ 1.968 —-1
0.75
3.75
2.750 \
0,575 X 0,875 SLOT
(3 PLACES)
1.70
\ o !
.90
CHAMFER GUSSET AS NEEDED
(2 PLACES) 23 \|
: 0.218 X 1.25 SLoT
f—1.52

%

i

2.50 T
‘ L 2.00
‘ } 75 H
Q.35 J <J 3 SIDES f
UNLESS OTHERWISE SPECFIED | CONTRACT o
e D/G/TAL ﬁEA TER SYSTEMS
APPROVALS DATE
oowns s
3 B A L I FABRICATION DRAWING—
—_ oot
T, MIN BEND RAD. T =5 HEAD BRACKET PHILLIPS AA
0.250 THK 5052 AL ALLOY SZE FSoN WO IR "BV
SSUED z
NEXT ASSY USED ON  [Fneg ‘ D616 ‘ A
APPLICATION BLACK ANODIZE scaLe /1] [ steer 1
T T 7 T T
T T £ 2 52 T T
REVISIONS
ZONEREV] DESCRIPTION | paE  [aPPROVED

|

MIN BEND RAD

fe—— 220 —=f

5.00

2,000 =t 0.750
2.50 t=— 0.55
!

3.10
g
0.218 X 0.50 SLOT X 2 0.218 X 0.37 SLOT X 2
NOTES:
UNLESS OTHERWISE SPECIFIED | GONTRACT NG
Sy EAK SHARP EDGES D/G/ TAL EEA TER SYS TEMS
i APPROVALS oATe
YR oeouns s
e e S FABRICATION DRAWING—
mi T koot |a/25/93 HEAD BRACKET DP75
VATERAL CHEGKED
0.250 THK 5052 AL ALLOY e TS -
SSUED
NEXT ASSY USED ON s D17
APPLICATION BLACK ANODIZE scaLE 1/1] [ steer 1
- I z I T

11



U | 4 I
T | /1 37v0s 3ZI00NY 0v18 aNY NOILYOITddv
00100090050 3S D ISMHOINTY NV s oo aaen | rsey 1o
A3 ‘ON_oMd "ON_ oS4 |37IS aanss
ADTIV IV MHL SZ¢°0
e \NNN@O@N% HVIN 1AM a3x03HD — N
31V1d VOINYOOIWINIO S6/02/S| HO0BYY o | e I e
S3TONY SIVWID3a SNOILOVHS
—ONIMYHd NOILVOl48v 4 31va STVAONddY o 2 SN0l
ZL61Y 'L96L—L L bBE ISNY
SWFLSA m o7l ,xmg TVLIO! Q mHﬂ S3003 cvis wvaue % SuAnE T TN
"ON LOVHINOD (J314103dS 3SIMY3HLO SSIINN
(s30v1d 7)
NYHL dvL ONN9L—G/E°0
GZl'y
Gele
Z X 8¢¥°08
| + +
000'¢
U i (L
0680
0S¥ 0 —==f
0/G°S
0009
a
03A08ddY | 3lva NOILdI40S3a [A3¥d[3N0Z
SNOISIATY
L | Z S [ I ¥

12



=T f

V|

SNOISIATY

| /1 3w0s 3ZI0ONY o8 NOILYOITddv
Q HSINI4
A3d mN® Q ‘ON_9md "ON NOS4 |3ZIS Q3nssi NG d3sn ASSY LX3N
AOTV IV ZS0S MHL 0SZ'0
¢ ¢ A3HNOIHO VIYILYN
WNOL WNSE L13MOVYIE AV3H [52 ] roosws e
—ONIMVYEd NOILVOIHgvY UL SO i S @
3va SVAONddY SSHONT N1 S SN0
el e
SWAL mxm == <MI\N A \Q\Q 3903 duvHS VINE B SHENE TIv INONE
"ON LOVHLINOD 0314103dS 3SIMY3HLO SSIINN
00°Z
‘Ovd ONIS NN L —
‘S3LON
(s3ov1d 2)
107S £8°0 X 90%°0
(30IS ¥v4) 7 X 8lcoe
1NN W3d £-¢20-5% el
e —
J la— 52570 f \\\\\\\\ ]
|
] |
| ,
|
s3a1s ¢ $ , , !
|
| | ”
05T 005" I & %1 W W : 0s'¢
| 08/°0 | | !
(S30v1d +) ! Szl 1 | | I
— — |
B 1NN wag £-9190-s 7 , k 7 $ 7 7 ! 7 arl
| |
mnlPym g T e s
| | f,\ D S S H S
] | |
05T
(S30v71d Z) 03033N SY 13SSND ¥3INYHO 439 08¢0
4
120°L R
P
! 73
N
~ Pl
//
(
)
000°T
00's
sg'e
or'¥
Q3NO¥ddY 31va NOILdI¥0S3a AFH|INOZ 0GL°L

13



1 I )
L 133ks | [/ ﬂ<w N NOILYOddY
HSINIA
A3y 5190 ‘ON_omMa ‘ON_Wos4 |37iS aanss| NO d3sn ASSY LXIN
AOTW ¥ 2505 HL 0520
Q3X%03HD REERT]] ‘v dN3E NIN ol
| IVSHIAINN 13IXOVHES dv3H so/02/2| nioogwy T 'SILON
—IONIMYHJ NOILYOldgv JEVI S
MF/{D mq<>omﬂ‘&< 34V SIONVHIIOL
SW3L mxm &3l /\m\,\\R w1 \O\Q 393 GuvHS HIVIHE B SHING TV INONI
"ON LOVYLNOD (0314103dS 3ISIMYIHLO SSITINN
FERNS
oS
[ £5
K e
, YRS
d33d 0S1°0 3404.,0 08C°09
NAHL 981709
° N
ol
.o/\
H 0se gzLe
(s30v1d 2)
107S S/€°0 X 8120
& 0
L
8890 o>
a
—— ~— 00%'0
G370dddv | 3Lva NOILdI40530 A33|3N0Z
SNOISIATY
T T z Z T T T

14



3 L2 2 T 1

REVISIONS

|

* ZONE |REV DESCRIPTION DATE APPROVED

~Co0
Fommmm
[
—
I
pommmm
[
O
N
a
(@)
.

»j 0.900 (=—
5

3.12

1.750

““OO’ R0.250 (TYP)
\/ #0.1875 SS DOWEL PIN
McMASTER—CARR NO. 90145A503

INTERFERENCE FIT (2 PLCS)

! PFC2-032-94 BN
O~7*50 o j/ PEM FASTENER
(D + EN =

* D
™ 50.218 THRU

20.400 X 82" C'SINK

(2 PLCS FAR SIDE)

0.375 —m=i |

—m—t (0.750 {=—-—

UNLESS OTHERWISE SPECIFIED | CONTRACT NO.

e e e Dicra. Treater. Systews
AR BT 957, Ria72

B R e | oms [ o | FABRICATION DRAWING—
TUouBe % ™ rksoom /24| HEAD ADAPTOR PLATE,

MATERIAL CHECKED
AL ALLOY 6061 T6 ISSUED SIZE| FSCM NO. DWGjDN?M M REV
NEXT ASSY USED ON Nsh ) D 6 2 6
APPLICATION BLACK ANODIZE SCALE 1/1] [ SHEET 1
| 3 4 2 | 1
| 3 ¥ 2 T
REVISIONS
& ZONE|REV DESCRIPTION DATE | APPROVED

L e |
0.188 t,
(TYP) 0.250
3.125 {
1.750
l=—1.00 =]
R0.250 (TYP)
/ $0.1875 X 0.375 LONG
SS DOWELL PIN
McMASTER—CARR NO. 90145A503
I INTERFERENCE FIT (2 PLCS)
0.750 PFC2-032-94 BN
i PR R, j/ PEM FASTENER
(DT + EN =
1.500
\\\\\\4—®0218 THRU
/ 90.400 X 82' C'SINK L
(2 PLCS FAR SIDE)
0.375 —==f  {=—

UNLESS OTHERWISE SPECIFIED | CONTRACT NO.

HOLE ToLEANGES pER D/G/TAL 77—/54 TER SYSTEMS

RANCES PER
ANGI B94.11-1967, R1972
[

TR e was | _POMS | OV | FABRICATION DRAWING—
T e weoorr | 1/2/s|  HEAD ADAPTOR PLATE,

MATERIAL CHECKED 7 O M M
AL ALLOY 6061 T6 ISSUED SIZE| FSCM NO. DWG NO. REV A
NEXT ASSY USED ON VN ’ ’ D 6 2 7
APPLICATION BLACK ANODIZE SCALE 1/1\ \ SHEET 1
I 3 Z S 2 I 1

15




| | Z ¥ c I
L 133HS 7 T\ﬁ Jwos 37I00NY MOVE NOILYOITddY
{ mw N @ Q g ASIN NO @3sn ASSY LX3N
v ] ‘ON 9MQ ‘ON WOSH |3ZIS a3nssi 9l 1909 AQTIY TV
;!m V\A Q{& m 14 Q3IXO3IHD IVIY3LYAN
JIVId HO1dvay avaH i) |Hooesy o f et
—ONIMYHD NOILVOIHGY | 3w | swiosaar | 777 oo 2o B85
ZL61Y L961— || ¥6E ISNY
WS\MK/W\A &\MK q\m\l\ Mq\r&\g\ 53903 dyvHS Xv3y8 wM&mMMMM(MMMOW\/WWAWM
/m/ \N Q ‘ON LOVYINOD Q314123dS 3ISIMY3HLO SSIINN
7 X £02°09 —== 05470 =
= = G/C0
(s3ovd 2)
MNIS, D .28 X 00% 09
g NYHL 8Lz 00 /\
(30IS yv4) /@
1NN W3d m\mmo\mm/ +
00G"|
= = DN 001°¢
& TP I
0G/°0
+ ! 0GG°L
2
(dAL) 0GZ'0Y | 00" | -]
szlg
o@mlo@
| T o
¢ S6/6/1 'C X 81708 SYM ¢ X €0C0¢ |V *
a3N0HddY J1vd NOILdI¥0S3a AJH|INOZ
SNOISIAIS
| | Z Z c I

16



N

6 TRACK
OUTPUT

N

6 TRACK
OUTPUT

D434-10

BS—22 NOT USED

TO SUBWOOFER
(IF NEEDED)
D584

JM-21

D Tf;i 6 TIMECODE ~ STEREO
D583
0713
D TSW— 6 TIMECODE ~ STEREO
70MM FAILSAFE #
CARD D582
77 fi
92 ‘ D583
A D713
J9 3
3

D462-00

JM-11

BS—22 NOT USED
]

JM-21

\
CINEMA PROCESSOR

JM-11

D434-10

CONNECTING TWO DTS—6 PLAYERS TO ONE READER
FOR STANDARD CINEMA PROCESSOR WITH

THE EXCERPTION OF CP200
/OMM FAIL-SAFE

Do82

17




DIS—6

TIMECODE ~ STEREQ
#W 6 TRACK
oUTPUT
D583
D713
DTSW76 TIMECODE ~ STEREO
70MM FAILSAFE # 5 TRACK
CARD D582 OUTPUT
J6 J7
J1 22 ‘ D583
o
] . ;
S 4 D713 3
L] J9 3 L
|
BS—22 NOT USED
IM=21
o) IM=11
M
<
a
o Co
| — o
TO SUBWOOFER o
(IF NEEDED)
D584 S
&
0
+
a
BS—22 NOT USED
IM=21
IM=11
[ L
IM=21
‘ IM=11 AUDIO ‘
‘ AUDIO ‘

CINEMA PROCESSOR

D434-10

CONNECTING TWO DTs—6 PLAYERS TO ONE READER

cP200
/OMM FAIL=SAFE

Do82

18




¢84d

ON'9MT

| Z8SANNOL

INVN 314 ¥3LNdNOD

a N o s

10g16 VO ‘STIH VdN09v
‘40 NOL3dVIO LLIS
SW3LSAS ¥3LVIHL vLIOId

vLTea

3NON_31¥0S
Q3A0¥ddV [ 86/05/¢ 3V

QIVOE 34VSTVE WANOL 3y

A3
LVZUYS'N iNMVED

O
T T

H4OL

LINA SLa
dNX0vE NOd4

FROM PRIMARY
DTS UNIT

¢850—0dyvO
34VSTIvd WWOL [ ]

T
T
s

40SS300dd
oL oL sr

foaad

378v0 ¥3aV3d 3300 3WIL S1d 0l

a ans Nid 6 JTVW34

z# ¥0SS300¥d SLA OL
a ans Nid 6 31VAN34

S310N
I1# ¥0SS300¥d SLa
318v0 Lndlno 03¥3ls
@ 8ns Nid S ITVA34
ON 00
a sf Lr
S ole
! AST @% OO
ar ¢ AVIZY ‘@@ OOt
®O D —on o O
OO0 %@ ON 110 NI
O ® Z# ¥40$$3004d SLa
O M Lno | © WOY4 22-S8
— oo O <10 NI NIAMGNG ¥3QV3H NId 01
ON 1Ino M NI or
¥0SSID0¥d YWINID ON 00
0l 1NO zz-s8 % e ®O
¥3AV3IH NIid 01 ® OO
& o O s
) @@ M 1IN0
- O
z Ay Net < MW o O O
ON 1no M NI
aN9 ¥3400MENS v i,
® I1# ¥0SS300¥d S1a
6r LNdNI ¥3400Mans @@ WOd4 zZ-S8
® @@ ¥3QV3IH NIid 0}
@@
@@ SLA NI N3HM OND 74 45553003d SLA
S &) 318v0 1NdlNO 03¥3LS
w@ d 8ns Nid Sl 3ITVA34
@% LNd1N0 ¥3400MENS L AVI3Y
@ éo_
©
MS ¥03 Q3QIIN 4
¥0SS3I00¥d YWANID
u 0Ll 318v0 03¥3LS
76 © 6 2 6
7g ) Y g
er @@ @@ 48 © L
@ 9 © 9 © 9
L ) )

L# 40SS3008d SLA 0L
d 8nsS NIid 6 3TVA34

19



“ON'OMd 00zd9noL INVN_ 114 ¥3INdWOD
10£16 VO ‘STIIH VdNO9VY
40 NOLI¥VIO 1LLS
SW3LSAS ¥3L1V3HL 1vLI9I1d

a N0 oS

A3y INON_F3IvaS
LVZUISA NMVEQ 03A0¥ddY | £6/52/L 31v¥a

ONI¥IM O¥VO8 34VSTIV4 002dD /M 08-SL0 .31y,

zzsa

£Z88 vzsa Gazsa

ele|e|e|e|o|o|e|e
6|8|L|9|S|¥|E£|T|}

ole|o|o|o|e|o|o|o|o|e|e
z 6|8|L|9|S|V|£|2]}

1INN TO4INOD

00Z-d0

zz-nr

Lz-nr

| Sr 1 LNOYoIpNy

9r 1 1no 21907

21907
O
O
o

1NdNI

1

40SS3008d 0L

er
LINN S1d dNX3vE WOdd

olanv

L LNdNI

[
vr

9N (2] L2 ] j=p] LA
£8Sd dyvO
34vSIv4 d9-Sl1a

FROM PRIMARY DTS UNIT

AUDIO

INPUT 1 J1

LOGIC

J2

INPUT 1

1

TI=AT

SANV ¥3IMOd
ssva 8ns oL

+
00Z-d0 [

1INN ¥0SS300dd

1nd1N0 ¥3100Man

H |4 HYa1 O.r —‘

{{

m O
@I
i, oY
kawomommmooma olanv 1vLI9I0 09-SLd AYVAIYd
m O
g:wgw_owﬂoo% 01aNY VLISIQ A9-SLa dNXovE

20



‘ON‘9Ma INYN 3714 ¥3INNOD

/850 7 HIMAINOL

2916 VO FOVTIA DIVILSIM gy

LoL# SVYNIMOO VIA 955LS
SWNILSAS ¥3LVIHL TvlIold

AT e——_

A3y INON_31¥oS
IVZIIS W NMYAT QINOMdeY  [96/81/11 31va

ONI¥IM Qdv08 34VSTIVA d9-SL1A:zun

[slels[slvlslz]v] [slels|s]vls 2]y

LINN T04INCD

00Z-dd
zZ-Ar
1Z=nr
3
BI-Wr
[ f [ | LIN HOSSI00Hd e en e
‘N B 10
e ST 1IN0 0Ianv or L 1no 01901 I
= s
g LZAL C
o z@uzm%uﬁmovu mu, m.v_ Beeasaseed =
= S10S10 Ms ;m_% 2
23 = 6lg|z]o|s|v|s|z|s £sd tsd
S3 N
- < ¥0SS3008d OL 3 INdLNO. ¥3400MENS
[ v 3
—l—Ja @ =
i 3 I I I I
g z -
— H‘
g’ B
33 =
i i @
p—— ENe [ W W m & %
SZ £8S0 ¥V oo
3 s 1K @\Y
L < 34vSTIv4 d9-s1d < z g z
H HYOL Ol o o 8 o +
® | 'l 1 @
] ,I—L ,I—L d40SS300dd 01aNY vLIOId d9—-S1a AYVAINd
o
=
o
olle ) O
3
: DI N
0o
it Y

#03°3501)

¥0SS300dd OIdnv 1vLIold d9—-S1a dnXovd

21



d9NNWQOL

.oz.csai INYN 314 ¥3LNdWOD

£85d

10€16 YO ‘STIH vy¥NooY
‘H@ NOLIYVIO LLLS
SW3LSAS d31viHL V191

L8/S/1 N A
IVZUYS'N_NAVHD

3NON_'37v0S
Q3A0¥ddY 96/6/6 _31va

ayvoa 34vSTIV4 d9-S10 31

d Nid S¢ VW34 9or

WOO 21907

S1a 019C
ONAS—NON 01907
ONOW LNO 0190
4S LNO 21907
3dAL-V LNO 2190
L NI SIT ]

b S/d AGF_]

L]

(Cesieesey/

LNd1NO 21907 Ssl1d

ONOW 1IN0 21007 ¥

¥

NOO sid
Il S/d AS+
NOD sia L NI'S1d 0l
woa O
1no ms O
N MsO

a Nid €T 3N sr
el
no3 @@

1o Ms LZAP
W5 e o 0
z_”ﬁ‘qu‘%\ﬂw [Sane]

SOEQ“@AW\O e]
So&‘%\o o
) [e3Ke)
o9

no ﬂ‘\@\o o
100 0
FDM g @@

10 um‘%\o o
1003 Sh Q
Wﬂmﬁ%ﬁm X

1Nd1lno olanv s1d

o
o

O 0000000

i

d NId ST VN34 ¥r

a

%@é@%%%%ilé%@@%@@

W00

S1a
ONAS—NON
ONOW

ds

3dAL-V

2 NI sId

34VSTIV4 LNdNI

olanv s1d

NId S§Z 31VA34 2r

S310N

a NIid SZ 31VW ¢r

21907

2190

Q1907

2190

1907

2190

LG

iy

34VSTIV4 LNdNI

21907 S1a

a Nid §Z 31vVW 11

O|0|®|o

©
&
©®
©
L

d Nid 6 3TVA34 67
378VD ¥3av3¥ 3000 3WIL S1d Ol

zqu‘@ WO o_od“@
[\@ $10 21907 | @
e el e
T R S
_M“ﬂ m@@ | S/d ASE ] m@@
nes— 0 —0
"o —5¢
wor () —©
T 26 —%a
w33 —©
20 —95
wo3 ) —®
516 —
SO —©
oo —g
TR0 — 0
L O —O~
AIVAIEd LNdNI AIVAIdd LNdNI
olanv sia 21907 s1d
[
UA
[
‘oo S
® 5
% o) v @
9 Yo
9 Q@
L t

d Nid 6 31VA34 8P
1INN 34VSTIv4 S1d Ol

d Nid 6 3TVA34 L1

1IN A¥VAIMA S1d OL

22



DTS 70mm PartsList

DTS-6 (2-drive player) Failsafe

Failsafe kit

E165 DTS-6 70mm failsafe, upgrade kit (does not include a second player)
Failsafe kit parts (these parts are in the E165 kit)

D582 Interface logic board, 2/DTS-6, 70mm fail-safe (includes laminated sheet)
D462-00 Interface audio cable, loop-thru

D586 D582-J8 cable, failsafe automation

D584 D582-J9 cable, failsafe subwoofer

D583 D582-J2 & -J1 cable, failsafe timecode (2/ D582 board)

D713 D582-J4 & -J5 cable, failsafe digital  (2/ D582 board)

DTS-6D (3-driveplayer) Failsafe

Failsafe kit

E169 DTS-6D 70mm failsafe, upgrade kit (does not include a second player)

Failsafe kit parts (these parts are in the E169 kit)

D587 Interface logic board, 2/DTS-6D, 70mm fail-safe (includes laminated sheet)
2503-0014-00 D587-J8 & -J5 cables, failsafe audio/logic, not needed for CP200 (2/ D587 board)
D712-01 D587-IM11 & -JM21 cables, failsafe audio, CP200 only (2/ D587 board)

D435-01 D587-J9 cable, failsafe timecode

Test Equipment and 70mm Timecode Reader

6060-0007-00 6-Track SeTuP Disc Rev. DS1

6060-0006-00 Empirical Test Disc, dated June7 ‘97

D600-02 70mm Timecode Reader (auxiliary roller attached)
E163 70mm auxiliary roller

6800-0002-02 70mm “offset adjustment” (sync) measurement film
6303-0001-00 CD-ROM drive cleaning disc

Mounting Brackets For Timecode Reader (includeshardware), permanent 35mm or 70mm

D614 Standard bracket (Century, Simplex, Ballantyne)

D616 Phillips AA bracket (Norelco)

D617 “L" bracket (Kinoton, Victoria)

D622 Front mount bracket (usewith Dolby SR-D™ or Sony SDDS™ readers)
5006-0001-00 Cinemeccanica bracket (usewith D614 )

E102 70mm spacer Kit (used to install a DTS 35mm reader in a 70mm space)

Mounting Brackets For Timecode Reader (includeshardware), switchable 35mm / 70mm

D615 Universal bracket

D625 35/70mm standard bracket, use with breakaway plates

D628 Adapter panel for D617 “L” bracket, use with breakaway plates

D626 Breakaway (“spacing block”) plate for 35mm DTS reader head

D627 Breakaway (“spacing block”) plate for 70mm DTS reader head 04-16-97

23



	filmtechpage.pdf
	ADOBE_DISCLAIMER_2005.pdf
	NEUTRONIC PLATTER procedure 1027031.pdf
	NEUTRONIC PLATTER
	FIRST SET UP
	ADJUSTING PAYOUT HEAD
	ADJUSTING PODS
	Mechanical Adjustments
	The purpose of this set up is get the photocell (optical sen
	- Zone A: in this zone the micro switch A is pressed and the
	board because this; the motor should be stopped (if the boar
	- Zone B: this is the area where the motor is running, the m
	Properly speed of the motor. In this area the arm of the POD
	the off position and the end position  where the motor will 
	When the arm move from the off position (in about 2 to 5 deg
	and the motor will start be spinning at the maximum speed, i
	the angle the speed will decrease until finally stop, when t
	Degrees
	- Zone C: This is a security zone for the speed control, in 
	range the motor will be stopped by end-control micro switch 
	- Zone D: The motor will be stopped in this area, the purpos
	possible over speed cause by inertia of the plate
	Procedure
	1. Adjust the reflective element in the CAM in the way that 
	approximately with the surface of the sensor.
	2. Adjust the switch A, to be free when the arm had move for





	DTS70mm.pdf
	DTS 70mm Operation and Installation
	How  Does  DTS  70mm  work?
	Parts Required
	Besides the cables and accessories that come with a standard 35mm DTS-6 /-6D system, the following parts are added for DTS 70mm:

	INSTALLATION PROCEDURE
	FAIL-SAFE  INSTALLATION, DTS 70mm
	
	
	
	
	
	Sync Adjustment For DTS 70mm






	OPERATION
	
	
	
	
	
	
	
	Brackets for the DTS Timecode Reader, 70mm permanent or 35mm/70mm switchable.  If switchable desired, breakaway adapters needed on brackets and readers.




	DTS-6D (3-drive player) Failsafe








